NS
ol

12

1o

Aol &

oy
oo

1. CF

0
1l

HAl

= 12| A2 A LA (cyclo-oxygenase) 15

cC
-

2 A

EIA
=22

H|AHZ0|EH

=
-

2) &

o)

)

6712 Ol

AN
ioll

wr

110

<J
1

IS
__o._._
0|0

2. Ck

27|, 548 H

cC
e

’

4 (A 2

u]
[

f

1]

FSAIt 13t

00

H|AHZ0|EH

=4, B

2

EA
—=

OfATIE!, T ZOLA|

1) &4z 7e 2|H, EEH 79, L&

g H|GO| LIEFE 4~ AL

—1
=]

o)
iy
<
n3
ol
pal

ol
__o_ﬁ

8) Z2E|ZAEH|Z0|EE AlRst=

~d

o[



Sttt

~r
0

I

20| vt

=
[

t

1o
oo

_2_|

I

)
__o_l
IR
LN

wr
E

=]

N

71| O|Ae| 2|27}

5t

S|

5) ¢H=0f

(HI=)

__o_|:

o

0o
__O._

<0

o)

2t

__o“_

s

N A

k7

S
=]

BI20|= AAet =aHo2

2 A
= =

4)

3 £0f

off cH

od
T

<k

I

al

o]
[=]



Cf Yolt, 24 &0

F
UL Olof A 171 H 27| &

—

—

O,
LS

|| 2]

AN

[z
QICt 4+ &0 OjH] MA =29 Z =
(]

—

—

A=

o4t
ol Bjot/EHOtOl 2 S3HEt 4

=
=

o < ol |
50 > Blo= o
= S = o <+ X -
ol _—_ 110 = X o am_. |__._ By =i
B o ojo g 2 3T - ol U
H 2 =< D By 3 O KD
B I o O o B N
o o =1 F oo oo %o o/ >
= O Ko L. o3 m_o 2 o X U JB
o OF g L X ® X =
o i <t 03 = KX g = € = N
o N ST LR fpo= o In
B = ol " moTx G DU
N = 1 ﬂm_ommmﬁ.@u oo
N S o N%EMONWM &ﬂ
o —_ — = J 35 -
) a5 ~ oy I o3 < =) o 0d0
] ol & S = o 6 oo OH 15 =
ilo] R =] lo 00 H Bl ud Ol °© = - i
& B 5 io] mowla_um_.u < o
= 4 ° <0 T Nom M ox .A__m o X
T  z0 M ofu = o ow TR EON
0oy o o (RS 0
W = <+ o F To b T oM BT ol oo .
o Do i ™ NN oH F o oar W o W
O T - oo X4 WO gy A n
g of OF R 2 g DD = e R
L RIS T X 4 ® o o g < X oo
N > = & ™ - KO A0 @l of & F I B0 0 Xk
5 T o U “ oy 2 o7 T O o & % o oy
W gy g M 1 g2 3 M) S ooy B oo 0|
NI T b B P o o oM A o o
~ ol Z g N o Wom @ o L o ﬁo_*_V 53
ol X ES N W & T X g T & o o e Lo .
ra s R L o B 3 — = o B = 2 0
03 = A of I T al roa U o ey U .
o od @ |D_I_ Ir <0 0 & oy Ho WAM u iy il 2 an._
w o Y D 2 o Bl o 2T ° B %0 NV il
N iy < _ = =& O o < w J S - 3 o) H
YR L 2 o Koz oMoz T <} or  H o S _!
O 5 - o 12 i W o ¢ X >
— o = i H__l 0
o E X i T - 2 o) O G il - — i BN
= om oy o X X3 = o = i s N W w 1l
L T - ER AT A ) o o ® d o8
4 = 2o g TR e A R & T 5 = = X
b m o ® o BT roo_ @ R EE w2
o oz W X0 m_m hE -] o 5 = o = o7 e = X o
2 5wy of o= L w2 or = Kk Lo & K Fo g or
= IF © o = S g T H M o — - ol 0do i ofJ Nk =
od ] O — 4 o W T F N Ky S = < = o Mr ol o — ol
S w1l S F 5 8 o AN S & o T = W a2 R
3y ol U3 4 b o < o of of ro <0 )
_/ (o) ™M < X -_
(@)}



w
ro
ol
njo
=
kJ
-
X
1o
M
ru|o
—H0

|5t0] CHE E710f B0 'EA] &=t
25 2 = =
4) AHES ZHIZ OPHE B2, HS=0ll= 171 OILiof AFESHE:. (1218 AIA| A|<)

5) LIE=2 HSAITHA| FHEHOIE} AL & J2 WE=2 H2{0fettt. (12]& A|A|0f| otet

—
— 0

)

1O

=1L

Alof 7|24



